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™. Written Exercise 2: &5
Translate the following Greek text into correct English (19 answers):

0 GmOGTONOG YPAPEL TNV EMGTOANV KOl ODTOG AEYEL TVELHATIKDG OOTOWC. aDTOS SOMGLY 0OTNV GTOIS KOl TOUG
TOA0LOVG HUHOVG BVTOL AVAYIVOCKOVGL.

< Parse the following words according to the appropriate model (122 answers):
o amoctorog (7 answers):
ypapet (8 answers):
™V emetoAny (7 answers):
avtog (10 answers):
Aeyer (8 answers):
avtoig (10 answers):
avtog (10 answers):
Sdmwowv (8 answers):
avtnv (10 answers):
avtoig (10 answers):
T0Vg makatovg (9 answers):
uwobovg (7 answers):
avtot (10 answers):
avaywvmokovot (8 answers):
% Conjugate the following verbs according to the appropriate model (12 answers):

Present - Active - Indicative Forms of Aow (6 answers):
Person:  Singular Plural
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Present - Active - Indicative Forms of 318wt (6 answers):
Person:  Singular Plural
1

3

3 Decline the following nouns and noun derivatives according to the appropriate model:

The singular and plural forms of Loyog, 0 (6 answers):
Singular: Plural:
Nominative
Dative
Accusative
Third Person Personal Pronoun avtog, -1, -0 (18 answers):
Case: Masculine Feminine Neuter
Singular:
Nominative
Dative

Accusative

Plural:
Nominative

Dative
Accusative

“Block diagram the above text according to the guidelines (19 answers):
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